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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This Question Paper contains 38 questions. All questions are compulsory.
(ii)) Question Paper is divided into five Sections — Section A, B, C, D and E.

(iii) In Section A — Questions no. 1 to 18 are Multiple Choice Questions
(MCQs) and Questions no. 19 & 20 are Assertion-Reason based questions

of 1 mark each.

(iv) In Section B - Questions no. 21 to 25 are Very Short Answer (VSA) type

questions, carrying 2 marks each.

(v) In Section C — Questions no. 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section D — Questions no. 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section E — Questions no. 36 to 38 are case study based questions,

carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 3 questions in Section C, 3 questions in

Section D and 2 questions in Section E.

(ix) Use of calculators is not allowed.

SECTION - A

This section consists of 20 multiple choice questions of 1 mark each. 20 x 1 =20

—> - - —> - =
1. If a and b aretwovectorssuchthat | a |=1,| b |=2and a ‘b =«/§,

- - .
then the angle between 2a and —b 1is:

T

B) 3
11m
<6 — D) e
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9. wema=2i-]+k b=1-3] skauc=-8i +4] + 4k foe fg
1 e ol FEUd H 8, T8 e
(A) T gueg Fge (B) T - By
(C) T gHigaTg Bys (D) T g S

3. WATa whlmERnE s T | a | =ad, @
|;x€|2+|2x3|2+|2xf§|2w1ﬂ?%
(A) a2 (B) 242
(©) 3a2 D) 0

4., e A= {_31 ﬂ BAMAZ+TI=kAR Ak HIIAE :

@A) 1 (B) 2
C) 5 D) 7
1 -1 2 -2 0 1
5. WMTA=|0 2 -3 FI?JTB:% 9 2 —3||1IRAB=I8 AALFIUAR:
3 -2 4 6 1 A
-9
(A) e B) -2
-3
(®) - D) 0
6.  x2 BT x3 o HUL Tl g :
2 3x
(A) ™ B) -
© = D) 617

7. B f(x) = |x| + |x—2]
(A) A4 g, T x = 0 qAT x = 2 T FTheA T8l § |
(B) 3T 8, W = 0 AT x = 2 W Had T8 8 |
(C) ¥add &, T adl x = 0 W FTheHIT T2l ¢ |
D) TANFAAEIMAT x=0qAT x = 2 W ITHAA T 2 |
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AN AN AN —> AN A

N A A A N A

2. Thevectors a =21 —jJ +k, b =1 -3j -5kand ¢c =-31 +4j + 4k
represents the sides of
(A) an equilateral triangle (B) an obtuse-angled triangle
(C) an isosceles triangle (D) aright-angled triangle

- -
3. Let a be any vector such that | a | = a. The value of

> N9 —> N9 > N2,
la xi1|"+|laxj|"+]axk]| 1s:

4) a? (B) 2a?
(©) 3a2 D) 0
3 1 .
4. IfA= { 2} and A2 + 71 = kA, then the value of k is :
A 1 B) 2
©) 5 D) 7
1 -1 2 20 1
5. LetA=|0 2 _3 andB=% 9 92 _3|.IfAB=T, then the value of
3 _9 4 6 1 2
AlS:
@ =2 B) -2
4
3
o D) 0
©) 5 D)

6. Derivative of x% with respect to x3, is :

2 3x
@& = ®
©) %’C D) 6

7. Thefunctionf(x)=| x| + | x—-2 | 1s
(A) continuous, but not differentiable at x = 0 and x = 2.
(B) differentiable but not continuous at x = 0 and x = 2.
(C) continuous but not differentiable at x = 0 only.
(D) neither continuous nor differentiable at x = 0 and x = 2.
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10.

11.

(A) m+ /3 (B) 343 —n
€ V3 -n D) n—+3
WW%+gy:0,x¢OWWW%:
X X

W 2 ®) 2

X
(C) e% (D) elog (2x)

ol—x_y_—lzz 2x—3:y:z—4 . ‘
keciy SR 1?'[911 1T , p o o8 T & Tt o oieeq g,
EREE

1 1

(A) 5 B) 5
C) 2 D) 3

Wae Tuma T (LPP) freht gemd & g T 2, o 3e99 %o Z = 4x + y Wl
Fferhar A 2 :

A) 50 (B) 110
(©) 120 (D) 170
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8. The value of I tan?2 (gj dois:
0

(A) m+ /3 (B) 343 —=n
C) V3 —n D) n-+3
i i ) ) . dy 2 )
9. The integrating factor of the differential equation T +—y=0,x#01s:
X x
2 2
A — B «x
2
© e (D) elox 2
10. The lines 1-x :y—_lzE and 2x =3 =Y _Z- 4 are perpendicular to
2 3 1 2p -1 7
each other for p equal to :
1 1
A —= B =
(A) 5 B 5
©€) 2 D) 3

11. The maximum value of Z = 4x + y for a L.P.P. whose feasible region is
given below is :

A) 50 (B) 110
(©) 120 (D) 170
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12. afe ueh Argfemes =X X 1 ITfiehdT seq, =1 2

X 0 1 2 3 4
PX) 01 | k| 2k | k| 0.1
JET k Teh AT =R E |
A Al =X X 1 H 2 B <l ek &
1 2
A) = (B) 5
4
(®)) 5 (D) 1
13. e f(x) = kx — sin x , TR 940 8, afe
A k>1 B k<1
C) k>-1 D) k<-1

14. T @ 1 Frft aier, S o fig e i afem g = 1 - ) 8, @ Aot R
w%@?:€+ﬁ+p(2€—§)%wﬁ(%,%:

(A) x—-2 y+l_z (B) x-1_y+1_z
1 0 1 2 -1 0
©) x+1:y+1:E D) x—lzlzz—l
2 -1 0 2 -1 0

a c 0
15. qﬁ{b d O}QEB31'&{§3T\'ﬂ15€i\75'(scalarmatrix)%*,?ﬁa+2b+£’>c+4d7=b‘m1:[%r

00 5
@A) 0 B) 5
(©) 10 (D) 25
w.ﬁm%%A4:%Li ﬂ%ﬁawﬁA%
2 -1 2 -1
ot o[
12 -1 12 -1
© ?{3 2} ©) 5{3 2}
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12.

13.

14.

15.

16.

The probability distribution of a random variable X is :
X 0 1 2 3 4
PX) | 0.1 | k | 2k | k | 0.1

where k 1s some unknown constant.

The probability that the random variable X takes the value 2 is :

1 2
(A) = B) 5
4
© < D) 1

The function f(x) = kx — sin x is strictly increasing for
A k>1 B) k<1
C) k>-1 D) k<-1

The Cartesian equation of a line passing through the point with position

- _ NN . -> N A AT
vector @ = 1 — j and parallel tothe line r =1 + k +u(21 — j), is

(A) X Z_Y+1_E B) x—l_y+1_£
1 2 -1 O
©) x+1:y+1:E D) x—lzlzz—l
2 -1 0 2 -1 0

a c 0

If | b d 0] is a scalar matrix, then the value of a + 2b + 3¢ + 4d 1s :
0 0 5

@A) 0 B) 5

©) 10 D) 25

Given that A—lzé[ 2 ﬂ,matrixAis:

@) 7{2 ﬂ ®) E ﬂ
112 -1 112 -1

© ?{3 2} ©) 4_9{3 2}
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s zr&A:B 12}%,?%1—A+A2—A3+...%

-1 -1 3 1
(A) 4 3} (B) 4 _J
0 0 1 0
© 0 0} D) 0 1}

18. 3Tahel GHIHT (x + 2y2) 3—33; =y (y > 0) I GuThHeH 0T 7 :

@ = B =z
X

© v D) %
ANHY — ek TG 91
9§ 19 T 20 § T ITRRYA (A) % 91¢ T de (R) fean 2 | 1 § 8 =&l s
T :
(A) IH (A) T T (R) I T § | T%h (R) 3T0HeA (A) 1 T ST i
2|

(B) 3fepeH (A) quT T (R) gHI T g | T (R) MM (A) i ot =ame &
T |

(C) IRFFAA (A) H 8, Trg o (R) 3 2 |
(D) ARTHYT (A) 39T & e doh (R) HA 2 |

19. AR (A) : T899 R = {(x, y) : (v + y) Th 3T TG 2 AU x, y € N} Th &&ged
EECERES
e (R) : Tft ITehd TE&I3TH n 6 foT, 2n Uk WS HEAT R |
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17. IfA={24 12},thenthevalueofI—A+A2—A3+... 1S :
1 -1 3 1
A B
A) 4 3} (B) 4 _J
0 0 1 0
C D
(®) 0 0} (D) 0 J

18. The integrating factor of the differential equation (x + 2y?) 3_y =y (y>0)
X
1s :
1

@ X B) =
X

© vy D =

y

ASSERTION-REASON BASED QUESTIONS
Questions No. 19 & 20, are Assertion (A) and Reason (R) based questions
carrying 1 mark each. Two statements are given, one labelled Assertion (A)
and the other labelled Reason (R).

Select the correct answer from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The relation R = {(x, y) : (x + y) is a prime number and x, y € N}

1s not a reflexive relation.

Reason (R) : The number ‘2n’ is composite for all natural numbers n.
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20. AR (A) : forelt LPP % fore wfterg gemma & & wivfia feig qofu mu # |

Z = x + 2y 1 AhdH TH 3= [6G3H W2 |

T (R) : T LPP ekt e & 9Rieg 81, 1 $8aH g1 hivi foig WER ¢ |

Wus -9
M @UE H 5 3 77 I AT T 7, T8 Tieh o6 2 37 ¢ |
21. (a) I y=cos?(sec?2t) 7, dl % RSN

AT

() = ety A frg i e & - 108X

dx  (1+logx)®

22. T O I AT 6 cm?/s I T H 9 W @ | T 1 IS &hal [hH oL 8 96 &1 7, 5

NI aN N\

g frR hI @& S cm & 2

23, TW3T TP f(x) = sin x + cos x GRI T B £, A [g%} T R gEH 2 |
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20. Assertion (A) : The corner points of the bounded feasible region of a
L.P.P. are shown below. The maximum value of Z = x + 2y occurs at

infinite points.

Reason (R) : The optimal solution of a LPP having bounded feasible

region must occur at corner points.

SECTION - B

In this section there are 5 very short answer type questions of 2 marks

each.
_ 3 2 - dy
21. (a) Ify=cos® (sec”2t), find e

OR

(b) IfxYy=e*"Y, prove that ﬂ = log x

dx  (1+logx)?

22. The volume of a cube is increasing at the rate of 6 cm?%/s. How fast is the

surface area of cube increasing, when the length of an edge is 8 cm ?

23. Show that the function f given by f(x) = sin x + cos x, is strictly decreasing
in the interval 5,5—75 .
4 4
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2 1—sinx

24. (a) _7%<x<£ém%mtan—1( cosx ]ﬁwwﬁw@m|
T

(b) tan! (1) + cos™! (— %) + sin”! (— %j %1 T&T HH T i |

25. T I : I 2x

(x% +1)(x% - 4)

Tue — T

39 @UE T 6 TY-3IT TR o T &, {1 T & 3 37 % |

26. fea g by = (cos x)* + cos™! Vx, g—yﬁﬁﬁﬁﬁml
x

27. (a) AThcl FHHT % =y cot ZxWWEHWW,W%%y(Ej =21
AYAT

(b) mwuﬁw(xe% +vy) dx = x dy 1 fof3e & F1a@ Fifsw, femgfry =1

B x=1% |

28. FTd <hIfT : jsec‘g 0 do
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24.

25.

26.

27.

28.

(a) Express tan™? ( co§x
1—-sinx

OR

) .. 1 )
b) Find the principal value of tan™! (1) + cos! (— —] + sin! (— —j .
(b) p p (1) 5 72

2x

Find :
o j (x% +1)(x% - 4)

SECTION - C

In this section there are 6 short answer type questions of 3 marks each.

. dy . .
Find d—y, if y = (cos x)* + cos™! vx is given.
x

j, where _7% <x< g in the simplest form.

. i : : : . d
(a) Find the particular solution of the differential equation d—y =y cot 2x,
X

given that y(gj = 2.

OR

(b) Find the particular solution of the differential equation

y
(xe* +y)dx=xdy, given that y =1 when x = 1.

Find : Isec3 0 do
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29. (a) 52 Ul hl 3= YhR T Tl TS T bl Tl H ¥ Teh U1 W A1 & | A8 Il 4 &
ATGTSAT Teh TAT HehTeAl STl 8, ST SIGIE STedl 91 91 Sl & | @I ¢ <
STCITE ST I B shl ITfRehat STa <hIfTT |

A

(b) e AT ITH T AHEEAT 3T < STRIehal, foraw €@ < 31 shl wiehar & g
2 | 39 U™ ! T IR 3BT TT | B: 3T <hl TEAT T TRkl 5 1 hIT | 39
T o1 71y i 19 hif |

30. e T o Hepr gru it geTd &= o v foig bl Ry MY & :

() e Z = 3x — 4y 3298 HoH 7, Al Z 1 Jhad TH F1d T |
(i) A Z=px+ qy, p, q > 0 3£ BH &, Al p TUT q § I8 FaY A1q hifae, s
foTq Z w1 Stfereham w1 B(4, 10) 91 C(6, 8) W |

x dx
2x+sin 2x

n
4

31. (a) WWW:IHCOS
0

YT

1 X
(b) T : | e* =+ dx
I [(1+x2)5 \/1+x2}
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29. (a) A card from a well shuffled deck of 52 playing cards is lost. From the
remaining cards of the pack, a card is drawn at random and is found
to be a King. Find the probability of the lost card being a King.

OR

(b) A biased die is twice as likely to show an even number as an odd
number. If such a die i1s thrown twice, find the probability
distribution of the number of sixes. Also, find the mean of the
distribution.

30. The corner points of the feasible region determined by the system of linear
constraints are as shown in the following figure :

(1) IfZ = 3x— 4y be the objective function, then find the maximum value
of Z.

(1) If Z = px + qy where p, q > 0 be the objective function. Find the
condition on p and q so that maximum value of Z occurs at B(4, 10)
and C(6, 8).

x dx

i
3. (a) Hvaluate: E[l + cos 2x + sin 2x

OR

®) Find;jex[ 1 ,_Z ]dx

3
1+x2)2  V1+x”
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32.

33.

34.

Qg -

TH GUE U IR -3 Tl 9 8 | Ik Ie 6 5 37k 3 |

(a)

(b)

(a)

(b)

Ife A=

x_i 2RI gTenia e £ A — B
x_

T feam IS | esiis fob £ Tehehl o 3AT=BTes # |

AT

St shifsTe fop s weft aredfass Tensti o ag=ag R ° giiya day

AMA=R—-{5}aM B=R— {1} 8 | f(x) =

S={(a,b): & a—b + V2 Tk AT TEA 2 }
e, THTHA A1 TR 3 |

v Lo 0177 o g g wh a1 g (4, 0, 5) @ A

2 4 -1
ST 2, o siT= <l gl T I |

AYAT

. x—-1 y—-2 z-3 x—-1 y-1 z-6 : ;
aﬁm_g_zk_ 5 T = __7qwaaaﬁ%,?ﬁk

T HH F1d HINT | 37d: ITUed eHT G137 o Aiedd Ueh WG oh1 Hie THIHT
fafag, S fag (3, -4, 7) AR 2 |

1 2 1
2 3 -1
1 0 1

7, a1 A1 3 it :

314 =1 gttt e =61 8 3Ta shifaT

x+2y+z=5
2x+ 3y =1

x—y+z=38
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SECTION -D

In the section there are 4 long answer type questions of 5 marks each.

32. (a) Let A=R - {5} and B = R — {1}. Consider the function f : A —»> B,

x—3

defined by f(x) = = Show that f is one-one and onto.

OR

(b) Check whether the relation S in the set of real numbers R defined by

S ={(a, b) : where a —b + V2 is an irrational number} is reflexive,

symmetric or transitive.

33. (a) Find the distance between the line 2:2}74_6:1_: and another

line parallel to it passing through the point (4, 0, —5).

OR

x—lzy—2:z—3 and x—lzy—lzz—G
-3 2k 2 3k 1 -7

perpendicular to each other, find the value of k and hence write the

are

() If the lines

vector equation of a line perpendicular to these two lines and passing
through the point (3, —4, 7).

1 2 1
34. FindA1,if A=|{2 3 —1|.Hence, solve the following system of equations :
1 0 1

x+2y+z=5
2x+3y=1

x—y+z=38
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35.

36.

() Ty =x|x| T I TiAU | 3Td: 39 gh, X-3T&T qAT HIEAT x = —2 AT
x = 2 % o9 e &7 T AT GHhe § HTd HIfT |

AT

(b) THTHSH % TAN § drElgd 9x2 + 25y2 = 225, W3 x = —2 T x = 2 3N
X-3187 & &t feR &1 BT &t JTd shilaTT |

gig -
30 GUS T 3 ThUT ST T & | Tdh I3 % 4 31 & |
Tfga, ssfia 3R anfern w & ug i o fifea % fow amamesr & forg sufeud gu |
ﬁ%ﬂ%aﬁaﬁaﬁuﬁw%%mﬁ%ﬂﬁaﬁaﬁqﬁw%wm%aﬁaﬁ

E2RlIRE Il i 3 | = ] T Uoh gL 8 &0 ¢ |

SR TR o TR T 0 9941 & IR
(i) STH W Y HH Th o g A bl TTRIhdT FAT 8 ?
(i) P(G| H) Fma HifST &t G, Tesia o g4 S 1 guiid! & a1 H Ufga = 9 g4
ST % R 2 |
(iii) ST H Hact Teb o A ST <l TTfehe F1d HIfT |
AT
(iii) 378 W IS Gl o T ST <hl JTRIhAT FTd HIT |
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35. (a) Sketch the graph of y =x|x| and hence find the area bounded by this
curve, X-axis and the ordinates x = -2 and x = 2, using integration.

OR

(b) Using integration, find the area bounded by the ellipse 9x2 + 25y2 = 225,

the lines x = -2, x = 2, and the X-axis.

SECTION - E
In this section, there are 3 case study based question of 4 marks each.

36. Rohit, Jaspreet and Alia appeared for an interview for three vacancies in

. : : .1 ,
the same post. The probability of Rohit’s selection is = Jaspreet’s

selection 1is é and Alia’s selection 1is i The event of selection 1is

independent of each other.

Based on the above information, answer the following questions :

(1) What is the probability that at least one of them is selected ? 1

(i) Find P(G | H) where G is the event of Jaspreet’s selection and H

denotes the event that Rohit is not selected. 1

(111) Find the probability that exactly one of them is selected. 2
OR

(111) Find the probability that exactly two of them are selected. 2
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37. Ush VR, Hhepoted T 350 Ufd Shespeled o W & oF T § | HIehe o Ush Td & IHR
e (p) % TH W Tk aTeT hegpetedl hl HE&AT (x) 9 It & | qoi 3R feha aret

T T HE, AT HT B p = 450 — %x@ﬂl’[ﬂﬁﬁ%

IR o SR WX = J9A1 o ST R

() R 3T R(x) = xp(x) I A o fIU femct 3TS (x) S=H 81 ? 3194 3TN
T T HINT |

(i) 3Tferehaw 31T % foTT Teh Sheapeiet o ool ohl TR o fohaT TIHT BRTT 2

38. eh WA hg U Ueh URIeTeh Ueh ORIy dRIHSH | Had IHehIcl diF ol &1 exiidn 2 |
HMH < T g O (0, 0, 0) T e 2 e i o <ttt D, A 7o V o 36 Tohi & 6

A A A AN AN

A A A A o
3o fRafg-mfewr s 21 +3j +4k, 71 +5] +8k du-31 +7j +11k B |

ITerd b TR X = o6 I i
() faam Vv, AR AT fRFghwe?
_)
(i) DA < feen d weh Uepsh—gfew 31d HIfT |
(i) ZVDA &1 H9 F1d IS |
ST

—> —
(iii) @flexr DV w1 afesr DA W 989 fhaaT 2 ?
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37. A store has been selling calculators at ¥ 350 each. A market survey
indicates that a reduction in price (p) of calculator increases the number
of units (x) sold. The relation between the price and quantity sold is given

by the demand function p = 450 — %x

Based on the above information, answer the following questions :

(1) Determine the number of units (x) that should be sold to maximise
the revenue R(x) = xp(x). Also, verify the result.

(11) What rebate in price of calculator should the store give to maximise
the revenue ?

38. An instructor at the astronomical centre shows three among the brightest stars
in a particular constellation. Assume that the telescope is located at O(0, 0, 0)

and the three stars have their locations at the points D, A and V having position
A A A

A AN A A AN A
vectors 21 +3j +4k,71 +5) +8k and-31 +7j +11k respectively.

Based on the above information, answer the following questions :

(1) How far is the star V from star A ?
H

(11) Find a unit vector in the direction of DA .
(111) Find the measure of Z/VDA.

OR
—> —>
(111) What is the projection of vector DV on vector DA ?
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